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Chapter 8
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• Some simple equations are of the form:

ax = b x = b a = b

a x

• These can be solved by:
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• Eg. 2x = ¼ could be solved using a 

number line or T diagram

So x =

0       1/8       ¼ 3/8 

OR

1/4

2            x

Cover the one you are calculating

So  x =

x =

This works with a = b/c or a = bc
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• Do the opposite/reverse operations or 

cross-multiply

• Eg.  3x = ¼ x = -4

7     5

x =  x = 

x = 
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• Just as with integers, solve using number 

lines, diagrams, or algebra.

• Just watch out for your negative signs!!

Eg. 2.4x = -14.4 x  = -6.5

0.31
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• If you are asked to solve and 

check

, there 

is a procedure you have to follow

Step 1: Separate the equation at the 

equal sign into its left side (L.S.) and right 

side (R.S)

Step 2: Substitute the answer you 

calculated into both sides, and solve them 

individually and separately.
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Step 3: If the two answers you get are the 

same,  ., then the value you 

substituted in is correct.  You’re done.

Step 4; If the two answers you get are 

different,  ., then you have 

made a mistake.  Either the value you 

substituted in is wrong, or you made a 

mistake in your check.  
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Eg.  -1.2x = 5.4
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• As with one-step equations, you solve 

them algebraically by doing the opposite 

calculations.  

• However you usually start solving using

• Then, if necessary, solve by
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4y – 2/5 = 7/10 4y – 2/5 = 7/10
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• An equation of the form 

a(x + b) = c

can 

be solved in two ways:

1. Use the distributive property to get rid of 

the brackets, and then solve

Eg. 3(x – 2) = -12

2. Divide by 

a

first, then solve

Eg. 3(x – 2) = -12
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• The object when solving an equation is to 

move the variable(s) to one side, and the 

numbers to the other.  Combining like 

terms gives the answer, eg. x = 3

• If you have variables on both sides, then 

you need to move them all to one side –

whichever side is easiest.  
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2.5 + 2.1x = 1.4 + 4.3x ½(x+1) = 1/3(x–1)
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Method 2 - Algebraically

		Do the opposite/reverse operations or cross-multiply

		Eg.  3x = ¼ 			x = -4



		  				7     5



		    x = 			x = 	

						x = 	
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Solving One-Step Equations

		Some simple equations are of the form:



			ax = b	x = b	a = b

					a		x

		These can be solved by:
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Solving Linear Equations

Chapter 8
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Method 1 - Diagrams

		Eg. 2x = ¼ 	could be solved using a number line or T diagram











	So x =

    0       1/8       ¼       3/8 

OR

1/4

2            x



Cover the one you are calculating

So 	x =

	x =

This works with a = b/c or a = bc
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Solve & Check Example

Eg. 	-1.2x = 5.4		
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Checking

		If you are asked to solve and check, there is a procedure you have to follow



Step 1:	Separate the equation at the equal sign into its left side (L.S.) and right side (R.S)

Step 2:	Substitute the answer you calculated into both sides, and solve them individually and separately.
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One-Step Equations with Decimals

		Just as with integers, solve using number lines, diagrams, or algebra.

		Just watch out for your negative signs!!



Eg.	2.4x = -14.4		  x  = -6.5

						0.31
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Checking

Step 3:	If the two answers you get are the same, 			., then the value you substituted in is correct.  You’re done.

Step 4;	If the two answers you get are different, 		    ., then you have made a mistake.  Either the value you substituted in is wrong, or you made a mistake in your check.  
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Examples

4y – 2/5 = 7/10			4y – 2/5 = 7/10
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Solving Two-step Equations

		As with one-step equations, you solve them algebraically by doing the opposite calculations.  

		However you usually start solving using



		Then, if necessary, solve by
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Variables on both sides

		The object when solving an equation is to move the variable(s) to one side, and the numbers to the other.  Combining like terms gives the answer, eg. x = 3

		If you have variables on both sides, then you need to move them all to one side – whichever side is easiest.  
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Distributive Property Equations

		An equation of the form a(x + b) = c can be solved in two ways:



Use the distributive property to get rid of the brackets, and then solve

	Eg. 3(x – 2) = -12		

Divide by a first, then solve

	Eg. 3(x – 2) = -12		
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Examples

2.5 + 2.1x = 1.4 + 4.3x	½(x+1) = 1/3(x–1)

       








